
 2022 Online Exam Review

Eduqas GCSE Sociology Component 2

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7975 3.6 0.7 4 89.3 100
2 7975 4.4 1.4 6 73.9 100
3 7969 8.9 3.8 15 59.6 99.9
4 7975 10.2 3.8 17 59.9 100
5 7954 9.1 4.1 17 53.6 99.7
6 7952 13.4 7 30 44.7 99.7
7 7902 5.4 2.4 11 48.8 99.1
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	 (c)	 Explain how age and crime are linked.	 [8]


		  You should explore at least two possible ways in your response.
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Sticky Note

Strong knowledge and understanding shown and applied on a question that many candidates either found hard to tackle or lacked the basic knowledge of subculture.







Sticky Note

AO1 4
+ AO2 3
+ AO3 6 =13/15



Sticky Note

Only Band 3 evaluation as line of reasoning not sustained throughout the essay.

























Sticky Note

Clear introduction showing the discussion that will take place.



Sticky Note

New Right argument used well.







Sticky Note

AO1 4
+ AO2 3
+ AO3 7 =14/15 
Very pleasing AO1 and AO2. There could have been  more sustained evaluation and commentary to lift it to full marks.



Sticky Note

Very relevant knowledge and understanding.
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Question 6 (d) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


15 4 3 8 


 
(d) Discuss whether subcultures and crime are related. [15] 
 


In your answer you are advised to refer to different sociological views on subcultures 
and crime to support your judgement. 


 
Band descriptors and mark allocations 


 


 AO1 1a & 1b 4 marks  AO2 1a 3 marks  AO3 1a & 1b 8 marks  


BAND 
4 


A coherent answer 
demonstrating detailed, 
relevant knowledge and 
understanding of a range 
of factors relating to 
sociological views of 
subcultures and crime. 
There will be evidence of 
appropriate and sustained 
sociological language, and 
concepts are described in 
detail. 


4 


There are no Band 4 
marks for this 
assessment objective. 
3 marks are awarded as 
for Band 3. 


 A developed analysis 
and evaluation of 
whether sociological 
views are useful 
explanations of 
subcultures and crime. 
There is a sustained 
line of reasoning 
which is coherent, 
relevant, substantiated 
and logically 
structured to support a 
judgement and a 
conclusion linked to 
the specifics of the 
question.  


7-8 


BAND 
3 


A coherent answer 
demonstrating mostly 
detailed, relevant 
knowledge and 
understanding of factors 
relating to sociological 
views of subcultures and 
crime, though some 
factors will be described in 
less detail than others. 
There will be evidence of 
mostly appropriate 
sociological language and 
concepts, but these are 
not sustained throughout.  


3 


Knowledge and 
understanding of relevant 
theories/concepts/ 
evidence is applied and 
used to explain 
sociological views of 
subcultures and crime. 
The explanation will be 
well developed. 


3 


Good analysis and 
evaluation of whether 
sociological views are 
useful explanations of 
subcultures and crime. 
Lines of reasoning 
may not be sustained 
throughout but are 
coherent and relevant 
to support a 
judgement and a 
conclusion linked to 
the specifics of the 
question.  


5-6 


BAND 
2 


Answer has some 
coherence, demonstrating 
partial knowledge and 
understanding of 
subcultures and crime, 
though lacking in detail 
and with inaccuracies/ 
irrelevancies. There will be 
limited evidence of 
appropriate sociological 
language and concepts. 


2 


Knowledge and 
understanding of relevant 
theories/concepts/ 
evidence is applied and 
used to explain 
sociological views of 
subcultures and crime. 
The explanation will be 
partially developed as 
some of these factors will 
be explained in less 
detail than the others and 
with inaccuracies. 


2 


A partial analysis and 
evaluation of 
sociological views of 
subcultures and crime. 
Any judgement or 
conclusion will be 
superficial. 3-4 
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 AO1 1a & 1b 4 marks  AO2 1a 3 marks  AO3 1a & 1b 8 marks  


BAND 
1 


Answer demonstrates only 
basic knowledge and 
understanding of the 
accuracy of sociological 
views of subcultures and 
crime. There will be little, if 
any, evidence of 
sociological language and 
concepts.  


1 


Application of knowledge 
and understanding to 
explain the accuracy of 
sociological views of 
subcultures and crime will 
be limited. Any 
explanation will be 
undeveloped and contain 
inaccuracies.  


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question.  


1-2 


 Award 0 marks for incorrect or irrelevant answers 


 
This is an extended response question where candidates are expected to draw 
together different areas of knowledge, skills and/or understanding from across the 
relevant specification content. They should construct and develop a sustained line of 
reasoning which is coherent, relevant, substantiated and logically structured. 


 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the 
highest marks in AO3, answers should make a judgement on the differing ideas and 
come to a conclusion.   


 
 


Indicative content  
 


This content is not prescriptive, and candidates are not expected to refer to all the 
material identified below. Credit will be given to the effective use of supporting 
sociological evidence. Some of the issues to consider in the discussion are:  


 


• Status Frustration 


• Cohen 


• Walter Miller – Focal concerns 


• Gangs 


• Crisis of masculinity 


• Charles Murray – New Right – culture of poverty 


• Age Crime Curve 


• Subcultures 


• Other views of the causes of crime, including Marxism 


• credit reference to relevant sociologists and theory where applicable e.g. New 
Right, Marxism 


• there should be some conclusion to the argument 
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	 (d)	 Discuss whether subcultures and crime are related.	 [15]


		  In your answer you are advised to refer to different sociological views on subcultures 
and crime to support your judgement.
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Sticky Note

AO2 2
+ AO3 1 = 3/6
Not greatly detailed, more of a list of problems. Some application to the research and some awareness of research problems though.

























Sticky Note

Not the question. The candidate is writing about unstructured interviews.







Sticky Note

AO1 1
+ AO2 1 = 2/6 Candidate has not addressed the question. A shame because the candidate is clearly very able and has performed exceptionally well across the paper.
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Question 7 (c) 
 


Mark allocation: AO1 AO2 1b AO3 1a & 1b 


6 
 


3 3 


 
(c) Explain and evaluate the problems you may experience when researching 


schoolchildren’s views on vaping.  [6] 
 


Band descriptors and mark allocations  
 


 AO2 1b 3 marks  AO3 1a &1b 3 marks  


BAND 
3 


Knowledge and understanding of 
relevant theories/ concepts/ 
evidence/ methods is applied and 
used to explain accurately and in 
detail the problems involved in 
research into school children’s 
views on vaping.  
The explanation will be fully 
developed.  


3 


A developed analysis and 
evaluation of the explain accurately 
and in detail the problems involved 
in research into school children’s 
views on vaping. 
There is a sustained line of 
reasoning which is coherent, 
relevant, substantiated and logically 
structured to support a judgement 
and a conclusion linked to the 
specifics of the question. 


3 


BAND 
2 


Knowledge and understanding of 
relevant theories/ concepts/ 
evidence/ methods is applied and 
used to explain accurately and in 
detail the problems involved in 
research into school children’s 
views on vaping.  
There will be some development in 
the explanation but with some 
inaccuracies 


2 


A partial analysis and evaluation of 
the explain accurately and in detail 
the problems involved in research 
into school children’s views on 
vaping. 
Lines of reasoning may not be 
sustained throughout but are 
coherent and relevant to support a 
judgement and a conclusion linked 
to the specifics of the question. 


2 


BAND 
1 


Application of knowledge and 
understanding to explain 
accurately and in detail the 
problems involved in research into 
school children’s views on vaping 
will be limited. Any explanation will 
be undeveloped and contain 
inaccuracies. 


1 


Limited analysis or evaluation only, 
with no judgement or conclusion in 
relation to the specifics of the 
question.  


1 


 Award 0 marks for incorrect or irrelevant answers 
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Indicative content 
 


This content is not prescriptive, and candidates are not expected to refer to all the 
material identified below. Some of the issues to consider are:  


 


• Sample – access, permission 


• Costs, funding. 


• Ethical issues 


• Legality 


• Confidentiality- may be using other substances. 


• Anonymity 


• Harm to participants – May encourage vaping which may have unknown harmful 
effects 


• Informed consent 


• Ways of overcoming ethical issues including debrief. 


• Ways of overcoming problems eg. Funding from a health charity. 
 


Award 0 marks for incorrect or irrelevant answers. 
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7.	 You have been asked to carry out sociological research to investigate schoolchildren’s views 
on vaping.


	 (c)	 Explain and evaluate the problems you may experience when researching 
schoolchildren’s views on vaping. 	 [6]
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Sticky Note

3+3+2 Marxism is strong response. Feminism a little weaker and the answer could have evaluated more.





















Sticky Note

AO1 3
+ AO2 3 
+ AO3 2 =8/9

Useful theoretical knowledge applied well and two theories. Further evaluation could have gained all 9 marks.
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Question 3 (c) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


9 3 3 3 


 
(c) Discuss different sociological theories of life chances and jobs in the UK. [9] 
 


In your answer you are advised to discuss at least two sociological theories of life 
chances and jobs in the UK 


 
Band descriptors and mark allocations 


 
Note – a response which does not attempt to discuss at least two reasons cannot be 
awarded higher than Band 2.  


 


 AO1 1a & 1b 3 marks  AO2 1a 3 marks  AO3 1a & 1b 3 marks  


BAND 3 


A coherent answer 
demonstrating detailed, 
relevant knowledge and 
understanding of at least 
two sociological theories 
of life chances and jobs 
in the UK. There will be 
evidence of appropriate 
and sustained 
sociological language, 
and concepts are 
described in detail. 


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence 
is applied and used 
to explain 
accurately at least 
two sociological 
theories of life 
chances and jobs 
in the UK. The 
explanation will be 
well developed. 


3 


A developed analysis 
and evaluation of two 
sociological theories 
of life chances and 
jobs in the UK. There 
is a sustained line of 
reasoning which is 
coherent, relevant, 
substantiated and 
logically structured to 
support judgements 
and a conclusion 
linked to the specifics 
of the question. 


3 


BAND 2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of the 
functionalist and at least 
two sociological theories 
of life chances and jobs 
in the UK, though lacking 
in detail and with some 
inaccuracies/ 
irrelevancies.  
 
Or detailed, relevant 
knowledge and 
understanding is 
demonstrated, but only 
the one sociological 
theory is considered. 
There will be evidence of 
mostly appropriate 
sociological language 
and concepts, but these 
are not sustained 
throughout. 


2 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence 
is applied and used 
to explain two 
sociological 
theories of life 
chances and jobs 
in the UK. 
The explanation 
will be partially 
developed as some 
of these factors will 
be explained in 
less detail than the 
others and with 
some inaccuracies.   
 
Or knowledge and 
understanding is 
applied and used to 
explain accurately 
one sociological 
theory of life 
chances and jobs 
in the UK.  


2 


A partial analysis and 
evaluation of two 
sociological theories 
of life chances and 
jobs in the UK. 
 
Or a developed 
analysis and 
evaluation of one 
sociological theory of 
life chances and jobs 
in the UK.  
Lines of reasoning will 
not be sustained 
throughout but are 
coherent and relevant. 
A conclusion may be 
superficial. 


2 
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 AO1 1a & 1b 3 marks  AO2 1a 3 marks  AO3 1a & 1b 3 marks  


BAND 1 


Answer demonstrates 
only basic knowledge 
and understanding of life 
chances and jobs in the 
UK, which may be 
characterised by 
inaccuracies and lack of 
understanding. There will 
be little, if any, evidence 
of sociological language 
and concepts. 


1 


Application of 
knowledge and 
understanding to 
explain sociological 
theory of life 
chances and jobs 
in the UK will be 
limited. Any 
explanation will be 
undeveloped and 
contain 
inaccuracies. 


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question.  


1 


 Award 0 marks for incorrect or irrelevant answers 


 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the 
highest marks in AO3, answers should make a judgement on the differing ideas and 
come to a conclusion.   


 


Indicative content  
 


This content is not prescriptive, and candidates are not expected to refer to all the 
material identified below. Credit will be given to the effective use of supporting 
sociological evidence.  


 


• Davis and Moore – role allocation and effective performance – rewards – the best 
jobs are given to those talented and working hard. Meritocracy 


• New Right –Peter Saunders – Britain is close to being a meritocracy Jobs go to 
the most talented. Many of the middle class are actually more gifted. 


• Marxist view – The ruling class make sure their children get the most important 
jobs. Eg MP’s and private schooling. 


• Gender – Feminists would argue that glass ceiling/patriarchy operates. 


• Racism – Institutional racism may prevent ethnic minorities achieving the most 
important jobs. 


• Legislation prevents groups against discrimination. Equality Act 2010. 
 


Credit accurate references to sociologists and theory where applicable 
 


There should be a discussion of the importance/credibility of the reasons and a 
conclusion. 


 
Award 0 marks for incorrect or irrelevant answers 
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	 (c)	 Discuss different sociological theories of life chances and jobs in the UK.	 [9]


		  In your answer you are advised to discuss at least two sociological theories of life 
chances and jobs in the UK.
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Sticky Note

AO1 3
+ AO2 2
+ AO3 2 = 7/9 
Two views explored, the first one not applied as firmly as the second which fixes Marxism to the question well.



Sticky Note

Superficial conclusion.





















Sticky Note

AO1 3
+ AO2 3
+ AO3 3 = 9/9



Sticky Note

Two theories applied clearly to the question with strong understanding. Clear evaluation.
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Question 5 (c) 
 


Mark allocation: AO1 1a & 1b AO2 1a AO3 1a & 1b 


9 3 3 3 


 
(c) ‘Those living in poverty need to change the way they live to improve their 


lives’. Do you agree with this view? [9] 
 


In your answer you are advised to refer to evidence from at least two sociological 
views to support your judgement.  


 
Band descriptors and mark allocations 


 
Note – a response which does not attempt to discuss at least two reasons cannot be 
awarded higher than Band 2.  


 


 AO1 1a & 1b 3 marks  AO2 1a 3 marks  AO3 1a & 1b 3 marks  


BAND 
3 


A coherent answer 
demonstrating detailed, 
relevant knowledge and 
understanding of at least 
two views of those living 
in poverty. 
 
There will be evidence of 
appropriate and 
sustained sociological 
language, and concepts 
are described in detail. 


3 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence is 
applied and used to 
explain accurately two 
views of poverty. The 
explanation will be well 
developed. 


3 


A developed analysis 
and evaluation of at 
least two views of 
those living in poverty 
in society. There is a 
sustained line of 
reasoning which is 
coherent, relevant, 
substantiated and 
logically structured to 
support judgements 
and a conclusion 
linked to the specifics 
of the question. 


3 


BAND 
2 


Answer has some 
coherence, 
demonstrating partial 
knowledge and 
understanding of at least 
two views of those living 
in poverty though lacking 
in detail and with some 
inaccuracies/ 
irrelevancies.  
 
Or detailed, relevant 
knowledge and 
understanding is 
demonstrated, but only 
one view is considered. 
There will be evidence of 
mostly appropriate 
sociological language 
and concepts, but these 
are not sustained 
throughout. 


2 


Knowledge and 
understanding of 
relevant theories/ 
concepts/evidence is 
applied and used to 
explain two views of 
poverty in society.  
The explanation will be 
partially developed as 
some of these factors 
will be explained in 
less detail than the 
others and with some 
inaccuracies.   
 
Or knowledge and 
understanding is 
applied and used to 
explain accurately one 
view of unequal wealth 
in society.  


2 


A partial analysis and 
evaluation of those 
living in poverty in 
society.  
Or a developed 
analysis and 
evaluation of one view 
of those living in 
poverty in society.  
Lines of reasoning will 
not be sustained 
throughout but are 
coherent and relevant. 
A conclusion may be 
superficial. 


2 
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 AO1 1a & 1b 3 marks  AO2 1a 3 marks  AO3 1a & 1b 3 marks  


BAND 
1 


Answer demonstrates 
only basic knowledge 
and understanding of 
different views of 
unequal wealth in 
society, which may be 
characterised by 
inaccuracies and lack of 
understanding. There will 
be little, if any, evidence 
of sociological language 
and concepts. 


1 


Application of 
knowledge and 
understanding to 
explain different views 
of social class and 
inequality in society 
views of poverty will be 
limited. Any 
explanation will be 
undeveloped and 
contain inaccuracies. 


1 


Limited analysis or 
evaluation only, with 
no judgement or 
conclusion in relation 
to the specifics of the 
question. 


1 


 Award 0 marks for incorrect or irrelevant answers 


 
Answers should demonstrate the ability to make sense of sociological debates, use 
sociological terms and examples and explain sociological concepts. To achieve the 
highest marks in AO3, answers should make a judgement on the differing ideas and 
come to a conclusion.   


 


Indicative content  
 


This content is not prescriptive, and candidates are not expected to refer to all the 
material identified below. Credit will be given to the effective use of supporting 
sociological evidence.  


 


• Functionalist view – Poverty plays a positive role for society.tt motivates others 
not to fall into poverty and work hard. 


• New right – The culture of poverty is the problem, Charles Murray, Marsland, 


• Dependency culture – dependency on welfare. 


• Marxist view – Capitalism is the real cause pf poverty. A system allowing 
exploitation of the poor by the bourgeoisie will always result in poverty for some. 


• People in work are now living in poverty, zero hours contracts, gig economy. 


• Prejudice and discrimination mean that some groups are always going to be poor. 
Ethnic minorities and women are at greater risk of poverty as are the elderly and 
people with disabilities  


 
Credit accurate reference to work, education, health, crime  
Credit accurate references to sociologists and theory where applicable  


 
There should be a discussion of the importance/credibility of the reasons and a 
conclusion. 


 
Award 0 marks for incorrect or irrelevant answers. 
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	 (c)	 ‘Those living in poverty need to change the way they live to improve their lives.’ Do you 
agree with this view?	 [9]


		  In your answer you are advised to refer to evidence from at least two sociological views 
to support your judgement. 
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Sticky Note

AO1 3
+ AO2 3 =6/8

Another answer using Hirschi well, but relying on common sense more for the second link. this fits with the mark scheme of one reason being less detailed than the other.





















Sticky Note

4+4 There were many examples of Hirschi being used very effectively on this question. 2nd way is not as strong as first but is still well written and logical. So full marks.
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Question 6 (c) 
 


Mark allocation: AO1 1a AO2 1a AO3  


8 4 4  


 
(c) Explain how age and crime are linked. 
 


You should explore at least two possible ways in your response. [8] 
 


Band descriptors and mark allocations 
 


Note – a response which does not attempt to explore at least two reasons cannot be 
awarded higher than Band 2.  


 


 AO1 1a & 1b 4 marks  AO2 1a 4 marks  


BAND 
4 


A coherent answer demonstrating 
detailed, relevant knowledge and 
understanding of how age and crime are 
linked. There will be evidence of 
appropriate and sustained sociological 
language, and concepts are described in 
detail.  


4 


Knowledge and understanding of 
relevant theories/concepts/ 
evidence for two reasons is 
applied and used to explain 
accurately and in detail age and 
crime are linked. The explanation 
will be fully developed.  


4 


BAND 
3 


A coherent answer demonstrating 
mostly detailed, relevant knowledge and 
understanding of how age and crime are 
linked though one reason will be 
described in less detail than the other. 
There will be evidence of mostly 
appropriate sociological language and 
concepts, but these are not sustained 
throughout.  


3 


Knowledge and understanding of 
relevant theories/concepts/ 
evidence for two reasons is 
applied and used to explain 
accurately how age and crime 
are linked. The explanation will 
be partially developed and one of 
these reasons will be explained 
in less detail than the other. 


3 


BAND 
2 


Answer has some coherence, 
demonstrating partial knowledge and 
understanding of how age and crime are 
linked though with some 
inaccuracies/irrelevancies and lacking 
development and detail, or detailed, 
relevant knowledge and understanding 
is demonstrated, but only one reason 
relating to how age and crime are linked 
There will be limited evidence of 
appropriate sociological language and 
concepts, with little detail. 


2 


Knowledge and understanding of 
relevant theories/ concepts/ 
evidence for two reasons is 
applied and used to explain how 
age and crime are linked but 
there will be little development 
and some inaccuracies, or one 
reason only is applied and used 
to explain accurately and in 
detail. 


2 


BAND 
1 


Answer demonstrates only basic 
knowledge and understanding of 
reason(s) relating to how age and crime 
are linked There will be little, if any, 
evidence of sociological language and 
concepts. 


1 


Application of knowledge and 
understanding to explain how 
age and crime are linked. Any 
explanation will be undeveloped 
and contain inaccuracies. 


1 


 Award 0 marks for incorrect or irrelevant answers 
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Indicative content 
 


This content is not prescriptive, and candidates are not expected to refer to all the 
material identified below. Some of the issues to consider in the explanation are:  


 


• Patterns relating to age and crime. Eg. Youth and the elderly. 


• Age Crime Curve – typical offending patterns by age 


• Stereotyping, prejudice and discrimination 


• Folk Devils and Moral panics about youth crime 


• Victimisation patterns 


• Knowledge of crime and the age of criminal responsibility 
Case studies, e.g. Jamie Bulger  
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Sticky Note

2/4 Two trends noted but no support from the data.





















Sticky Note

3/4 The candidate identifies two patterns and explains both clearly. many candidates did not make it clear what the percentage changes were abut and so lost marks.

This candidate identified two patterns correctly and backed the second one p with a statistic. Therefore, 3 /4 marks awarded.
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Question 2 (c) 
 


Mark allocation: AO1 1b AO2 AO3 


4  4  


 
(c) Describe two patterns or trends shown in the table supporting your answer 


with reference to the statistics in the table.  [4] 
 


Refer to at least two patterns or trends in your answer 
 


One mark available for a basic pattern or trend described. E.g. People who went to 
independent schools are more likely to be in the top jobs. 


 
A second mark is available for added detail and reference to the statistics. E.g. Only 
7% of people went to independent school, but 65% of senior judges went to 
independent schools. 


 
A further two marks are available for a second pattern or trend as above. E.g. The % 
of those in the top jobs has fallen between 2014 and 2019. 


 
Or Football is the only area with no significant advantage. 
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2.	 Look at the following information and answer the questions that follow.


	 (c)	 Describe two patterns or trends shown in the table supporting your answer with 
reference to the statistics in the table.	 [4]


	


	


	


	


	


	


	


	


6


03


Senior 
Judges


Armed 
forces 


officers
Newspaper 
Journalists MPs Footballers Olympic 


medallists
Top TV, 
Film and 


Musicians
percentage 


who attended 
independent 
schools 2014


71 % 62 % 43 % 33 % 8 % 35 % 44 %


percentage 
who attended 
independent 
schools 2019


65 % 49 % 44 % 29 % 5 % 31 % 38 %


*Independent Schools are private schools which parents have to pay for their children to attend. 
7 % of the general population attend independent schools in Britain.


Adapted from Sutton Trust – ‘Elitist Britain’ 2019


Top jobs Britain 2014 – 2019
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